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Note 3

(i) All the four questions are compulsory

(ii) Att questions carry equal weightage.

l. Answer the following question in about 600 words.

, -
I What is Integrated Learning Approach ? Explain the

I advantages of its use in primary schools.

OR

How do the sensing and intuitive learners learn ? Suggest

at least one learning experi ence for each type of learner.
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2- Answer the following question in about 600 words.

Discuss the implications of integrated learning approach
for :

(a) Selection of content

(b) Objectives of Education

OR

Mention at least two.factors facilitating integration. Describe
each with examples.

3' Answer any four of the following questions in about
150 words each

(i) Describe criteria for preparing a schedule of activities
for Class [V.

(ii) What is a webbed model ? Explain its need with
suitable examples.

(iii) Explain Gagne's nine Instructional events,

(iv) Describe Vygotsky's principles of constructivism.

(v) Give one example each of the following :

(a) Integration of senses

(b) Integration of diff erent areas of development

(c) Integrating different skills and competencies

(vi) Explain 'Brainstorming'. 
Mention the stages in its

organisation.
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4 - Answer the following question in about 600 words.

How would you select a theme for a project which aims
at integrating learning ? Suggest at least six criteria for the
selection of a theme along with their rationale.

ES- 21 2





urEFfiF@q3srEtflqfryrTrur-wr
(Tfr.fr.Tfr.)

S.fi.$. trt {-ETm 2
F{iil TfrsT

W, 2oo8

E.{TT.'ZLZ: nff i  tqEicqT; f f i -

srfqrrq st{ oTITIFFT

sw : s q"t sTfqrdq qrffir : 7oo/o

nr :
(i) srf ?n)'wt effi d t

(ii) srf v'm) qT qTfrdr wr?r d t

t. ffi TFT frt sflt drTtl-rT 600 g1ait if {fqq !

qnffif, sTfifl-q-wFttT FIr Af,l t ? jnelFrd trsrf,4f

fr w+ sq+q t dl'ti s1 qrcqr 6t l

sIgtEn

qiyqq'ffi 3+{ TA.t ffiq rFR ffi

t 
-? 

tred xnn t qrfrdr t lirq oq-t-6q q6

sTfBFrq srCTq gST{q I

ES-  21  2 P . T . O .



2. ffi T$T sl w{ ornTrr 600 yr.q fr {ftq r
qtfud sTfBFrq sqFrq + r{fuTril fr1 R+{{r
ff i + fdq st:
(H) frqq-Tq q+r

(u) ftenr + Aw
gTgrET

ts qq-t-q'q A srcsT d frrd q) qtsr +1 vrq'FIr sd.t E] I qds sT q,ttr g-ild{rr R gq st I

s. ffi fr + FFfr 
",Tsrq] 

EFr sn{ t r q+s sfi
nr'l*T{ lso rTe 6T A I
(i) sqTr-rvt firq srffi EFr 6dffiq iqg fii +

ftrq s{T{rq qr} qra qrfiicif H'r q,rfq 6t I
(ii) fu-r6se ezn Ailr t ? srgrr gqtupil + Hrer

$r+1 sTT-l-{e-q;61 +1 qrcrTr st I
(iii) 'n'i HRr nffifi q} @ wnreil (qrsil)

+1 qrGIIr st I
(iv) fu trRr Tffi{d t*rnrE + EFr

EtfT 6t I
(v) ffi fr + r+d q'r qs Fffi{q t :

tmt {rftfr 6r Hfsr
(s) f{6rg + EFffi ftT sr qtqr
(r) frrird 6Mi $ilr qqnrdrdT Err H+*.{

(vi) 'iqta)ffT' +1 qrcqr st I w+ $rraT s1
er+*qreil s'r so+s 6t I

ES- 21 2



4. ffi sFT s'r BT{ drrrrr 600wit t ffqq I

sTIq !F tS1 qRqtqqT fuFsT stgq sTflrrFT *) qtfud
q.GTr t sT Yfr{s *t gfi ? q*rrr Cr{s ti +
HsI-HTq yfr{s T{i t rirq qq-t-q.rT u qnqrs}
f r ' r W r E S q l

E S -  2 1 2 1 7  , 0 0 0




